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Chapter 5 Practice Problems
sin{.4+ B) =sin Acos B +cos 4Asin B
sin(.d—B) =sin Acos B —cos.4sin B

sin(2.A4) =2sin Acos 4

Y | ) ’l-*cos.'i
Slﬂ(?)—“—'z e

Prove the identity.

2
cos’ x—sin’ x 5
B XTI Y ot x—1
sin® x

2) csc B—sin B =cot Bcos B

3) cos(% +Xx)=-—sinx

Period: Date:
cos(A +B) =cos Acos B —sin Asin B tan(,-g-,mB):M
1-tan Atan B
cos(A~B)=cos 4cos B +sin Asin B
. ) e tan.{—tan B
. . tan(A - B) = e
cos(2.4) =cos* A-sin* A4 1+tan Atan B
2 2tan.
cos(2A) = 2cos* 4-1 tan(2.A4) = __t_;af'_,’!_
1-tan" 4

cos(2A) =1-2sin" A

a 1+cosAd
cos(-;-) 2 s

- -



2-2co82x
——— = secX (csc X) — cotx + tanx
sin2x

5) Prove (cos x — sin x)(cos X + sin x) = cos 2x

Evaluate without a calculator.
6) tan(165)

s T, . A, . T
8) COS(E) COS(B) - Sm(ﬁ) s1n(E)

7) csc(15)

9) cos’195 — sin°195



4 2
10) sec A = —-g with A in QIV and cot B = —% with B in QII, find:

a. cos(4—-B) b. sin(24)

c. cot(4-B) d. tan(2B)

11) Sketch a graph of the equation y =1+ 2sin4xcos2x —2cos4xsin2x.

12) Sketch a graph of the equation y = cos’ (x/2) — sin*(x/2)



13) Sketch a graph of the equation y = 10sin(x/4)cos(x/4)

14) Sketch a graph of the equation y = 1/(cos(3x)sin(2x) — cos(2x)sin(3x)

15) Find the exact value of cos(arcsin(4/5) — tan™'(3))

16) Evaluate the following.
2tan(15)/(1 — tan’(15) (tan140 — tan5)/(1+tanStan140)

cos(n/5)cos(197/30) — sin(m/5)sin(197/30) sec(75°)



17) Evaluate the following.

cos(105°)

sin(195°)

sec(22.5°)

csc(67.5%)

tan(255°)

cot(7n/12)

cot(15%)

csc(345°)



18) Find the exact value of tan(arcsin(-5/13) + arcos(-20/29))

19) . Given cosA = -7/25 in QII and cscB =-13/12 in QIV.
Find cos(2A)

20) Prove the identities.

X X
tan—+cot—=2c¢scx
2 2

, X tanx+sinx
cos —=————
2 2tan x

Find tan(A+B)



